
Adj R^2 = 0.86
Adj R^2 = 0.9

Adj R^2 = 0.53
Adj R^2 = 0.85

Adj R^2 = 0.91
Adj R^2 = 0.84

Adj R^2 = −0.01
Adj R^2 = 0.72

Adj R^2 = 0.79
Adj R^2 = 0.89

Adj R^2 = 0.83
Adj R^2 = 0.84

Adj R^2 = 0.89
Adj R^2 = 0.89

Adj R^2 = 0.66
Adj R^2 = 0.64

Adj R^2 = 0.78
Adj R^2 = 0.84

Adj R^2 = 0.48
Adj R^2 = 0.79

Adj R^2 = 0.83
Adj R^2 = 0.7

Adj R^2 = 0.82
Adj R^2 = 0.85

Adj R^2 = 0.8
Adj R^2 = 0.86

Adj R^2 = 0.84
Adj R^2 = 0.84

Adj R^2 = 0.83
Adj R^2 = 0.71

Adj R^2 = 0.82
Adj R^2 = 0.87
Adj R^2 = 0.65

Adj R^2 = 0.71
Adj R^2 = 0.63

Adj R^2 = 0.82
Adj R^2 = 0.71

Adj R^2 = 0.82
Adj R^2 = 0.68

Adj R^2 = 0.74

Adj R^2 = 0.79
Adj R^2 = 0.83

Adj R^2 = 0.76
Adj R^2 = 0.73

Adj R^2 = 0.86
Adj R^2 = 0.88

Adj R^2 = 0.85
Adj R^2 = 0.5

Adj R^2 = 0.66
Adj R^2 = 0.6

Aral Sea
Arkansas River

Atchafalaya River
Chesapeake Bay
Colorado River
Columbia River

Danube River
Delaware Bay

Ebro River
Elbe River

Fraser River
Great Lakes
Green River

Hudson River
Illinois River

Indian River Lagoon
James River
Lake Baikal

Lake Biwa
Lake Erie

Lake Huron
Lake Michigan

Lake Okeechobee
Lake Ontario

Lake Superior
Mackenzie River

Mississippi River
Missouri River

Murray−Darling Basin
Ohio River

Peace River
Platte River

Po River
Potomac River
Powder River

Red River
Rhone River
River Rhine

River Thames
Sacramento River

San−Francisco Bay
San Joaquin River

Savannah River
Seine River
Snake River

St. Lawrence River
Suwannee River

Vistula River
Willamette River

Yukon River
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Adj R^2 = 0.88
Adj R^2 = 0.9

Adj R^2 = 0.8
Adj R^2 = 0.94
Adj R^2 = 0.86

Adj R^2 = 0.95
Adj R^2 = 0.91
Adj R^2 = 0.9
Adj R^2 = 0.78

Adj R^2 = 0.76
Adj R^2 = 0.77
Adj R^2 = 0.93
Adj R^2 = 0.95

Adj R^2 = 0.9
Adj R^2 = 0.81

Adj R^2 = 0.7
Adj R^2 = 0.82

Adj R^2 = 0.89
Adj R^2 = 0.89

Adj R^2 = 0.94
Adj R^2 = 0.92

Adj R^2 = 0.9
Adj R^2 = 0.89
Adj R^2 = 0.91

Adj R^2 = 0.92
Adj R^2 = 0.82
Adj R^2 = 0.96
Adj R^2 = 0.88

Adj R^2 = 0.81
Adj R^2 = 0.84

Adj R^2 = 0.62
Adj R^2 = 0.92

Adj R^2 = 0.91
Adj R^2 = 0.77

Adj R^2 = 0.79
Adj R^2 = 0.89

Adj R^2 = 0.74
Adj R^2 = 0.63
Adj R^2 = 0.68

Adj R^2 = 0.95

Adj R^2 = 0.92
Adj R^2 = 0.94

Adj R^2 = 0.77
Adj R^2 = 0.86
Adj R^2 = 0.9
Adj R^2 = 0.88

Adj R^2 = 0.94
Adj R^2 = 0.89

Adj R^2 = 0.86
Adj R^2 = 0.92
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Model coefficient for EC

Adj R^2 = −0.19
Adj R^2 = 0.75

Adj R^2 = 0.68
Adj R^2 = 0.78

Adj R^2 = 0.64
Adj R^2 = 0.81

Adj R^2 = 0.94
Adj R^2 = 0.72

Adj R^2 = 0.41
Adj R^2 = 0.88

Adj R^2 = 0.65
Adj R^2 = 0.8
Adj R^2 = 0.69

Adj R^2 = 0.74
Adj R^2 = 0.47

Adj R^2 = 0.57
Adj R^2 = 0.85

Adj R^2 = 0.74
Adj R^2 = 0.33

Adj R^2 = 0.77
Adj R^2 = 0.8

Adj R^2 = 0.83
Adj R^2 = 0.78

Adj R^2 = 0.78
Adj R^2 = 0.76

Adj R^2 = 0.75
Adj R^2 = 0.79

Adj R^2 = 0.58
Adj R^2 = 0.83

Adj R^2 = 0.57
Adj R^2 = 0.53

Adj R^2 = 0.71
Adj R^2 = 0.74

Adj R^2 = 0.52
Adj R^2 = 0.64

Adj R^2 = 0.62
Adj R^2 = 0.2

Adj R^2 = 0.69
Adj R^2 = 0.41

Adj R^2 = 0.76

Adj R^2 = 0.79
Adj R^2 = 0.85

Adj R^2 = 0.61
Adj R^2 = 0.36

Adj R^2 = 0.79
Adj R^2 = 0.71

Adj R^2 = 0.86
Adj R^2 = 0.24
Adj R^2 = 0.69

Adj R^2 = 0.78
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Model coefficient for EN(a) (b) (c)

Structure indicator: DEG DOM Significant Level: < 0.05 >0.05

Adj R^2 = 0.72

Adj R^2 = 0.38

Adj R^2 = 0.8

Adj R^2 = 0.74

Adj R^2 = 0.6

Adj R^2 = 0.32

Adj R^2 = 0.36

Adj R^2 = 0.71

Adj R^2 = 0.83

Adj R^2 = 0.62

Adj R^2 = 0.67

Adj R^2 = 0.51

Adj R^2 = 0.17

Adj R^2 = 0.89

Adj R^2 = 0.69

Adj R^2 = 0.77

Adj R^2 = 0.6

Adj R^2 = 0.39

Adj R^2 = 0.68

Adj R^2 = 0.63

Adj R^2 = 0.47

Amazon River
Amur River

Congo River
Ganges−Brahmaputra−Meghna

Haihe River
Heihe River
Huai River

Indus River
Jordan River

Lake Taihu
Lake Tana

Mekong River
Nakdong River

Nile River
Orinoco River

Parana River
Pearl River

Poyang Lake
Tarim River

Yangtze River
Yellow River
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Adj R^2 = 0

Adj R^2 = 0.97

Adj R^2 = 0.7

Adj R^2 = 0.94

Adj R^2 = 0.95

Adj R^2 = 0.92

Adj R^2 = 0.96

Adj R^2 = 0.96

Adj R^2 = 0.68

Adj R^2 = 0.99

Adj R^2 = 0.9

Adj R^2 = 0.94

Adj R^2 = 0.91

Adj R^2 = 0.9

Adj R^2 = 0.14

Adj R^2 = −0.1

Adj R^2 = 0.97

Adj R^2 = 0.94

Adj R^2 = 0.97

Adj R^2 = 0.97

Adj R^2 = 0.95
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Adj R^2 = 0.97

Adj R^2 = 0.79

Adj R^2 = 0.52

Adj R^2 = 0.63

Adj R^2 = 0.66

Adj R^2 = 0.55

Adj R^2 = 0.63

Adj R^2 = 0.76

Adj R^2 = 0.37

Adj R^2 = 0.8

Adj R^2 = 0.73

Adj R^2 = 0.74

Adj R^2 = 0.56

Adj R^2 = 0.93

Adj R^2 = 0.49

Adj R^2 = 0.91

Adj R^2 = 0.67

Adj R^2 = 0.69

Adj R^2 = 0.7

Adj R^2 = 0.94

Adj R^2 = 0.73
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